Learning Plan 9

Chapter 12

Question 1
(pages 464 - 466 in the textbook)

Find the finance charge on an unpaid balance of $1476.80 in a revolving charge account if

the monthly interest rate is 1.6%.

Solution
0.016-1476.80 = 23.6288 =~ 23.63

Question 2

Complete the table to determine the unpaid balances and the finance charges. The interest

rate is 1.5% on the unpaid balance.

Month Unpaid Finance Purchases | Returns Payments | Unpaid
Balance Charge during Balance at
Beginning Month the End of
of Month Month
Aug $467.34 $48.73 $21.68 $110
Sept $253.83 $72.12 $185
Solution

The finance charge for August is S ? (Round to the nearest cent).
0.015-467.34 = 7.0101 =~ $7.01

The unpaid balance at the end of August is ?
467.34 + 7.01 + 48.73 — 21.68 — 110 = $391.40

The unpaid balance at the beginnig of September is ?
$391.40

The finance charge for September is S ? (Round to the nearest cent).
0.015-391.40 = 5.871 ~ $5.87

The unpaid balance at the end of September is ?
391.40 + 5.87 + 253.83 — 72.12 — 185 = $393.98




Questions 3 -4

Find the balance charge on an average daily balance of $1964.60 in a revolving charge
account if the monthly interest rate is 1.6%.

Solution
0.016-1964.60 = 31.4336 = 31.43

Question 5
(p. 467)

Heather borrowed $5000 on her credit card to purchase new furniture. Find the monthly
interest charges, which are 1.8% per month on the unpaid balance. Find the interest charges
if she moves the debt to a credit card charging 0.6% per month on the unpaid balance. Find

the savings.

Solution
0.018:-5000 =90

0.006 - 5000 = 30

90 — 30 =60

Questions 6-7
(page 475 - 476)

Find the total installment cost and the balance charge for an installment loan with these
conditions.

Amount Down Cash Price | Number of | Amount of | Total Finance
Financed Payment Payments | Payment Installment | Charge
Cost
$3000 $500 $3500 12 $275
Solution

500 + 27512 = 3800

3800 — 3500 = 300




Questions 8 - 9

(pages 476)
Find the aproximate annual percentage rate using the approximate annual percentage rate
formula.
Amount Financed Finance Charge # of Monthly Aproximate APR
Payments
$1857 $111.25 18 ?

Solution

Aproximate APR = —— 12> 2670 0oc6738 .~ 7.6

proximate AN T 1857-(1+18) 35283 e

Question 10

(page 477 - 478 )




Question 11
(page 490)

Use the Amortization Table to determine the payment required to amortize a loan of $6300 at an
annual interest rate of 10% with a term of 7 years. Payments are to be made annually.

Click here to view page 1 of the Amortization Table.
lick here to view page 2 of the Amortization Table.

The amount of each payment is $ 1294_4)8‘ 6300 0, 2051/, =1299.083

(Round to the nearest cent as needed.) =(1294,08

Page 1 of the Amortization Table

Amortization Table
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Question 12
(p. 491-492)




Question 13

Use the real estate amortization table to find the monthly payment for the following loar|

Amount of Loan | Interest Rate | Term of Loan | Monthly Payment
1
$350,000 6;% 10 years
Real Estate Amortization Table

MWWT&W“MwMWM
Terms Terms|
inYears 4% 4% 5% 5% 6% @ % % 8% in Yean
10 10.12 1036 1061 1085 1110 (llg 1162 11.88 1214
15 7.40 7.65 791 B.17 R.44 8.71 8.99 928 9.56
20 6.06 6.33 6.60 6.88 7.16 7.46 7.76 8.06 8.37
25 5.28 5.56 5.85 6.14 6.44 6.75 707 739 172
30 477 5.07 5.37 5.68 6.00 632 6.65 7.00 7.34
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YOU ANSWERED: nothing

250 000 1000 = 3250
From the ta ble 5‘-&% _f,, [oaeg.rs _— //.55‘
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